;> restart
>L:=9
L:=9 €))

> f:=-(t+8)-Heaviside(t + 8) + (¢ + 7) -Heaviside(z + 7) — Heaviside(¢ + 5) + Heaviside(?
+4) + (¢t+2)-Heaviside(t +2) — (¢t + 1) -Heaviside(¢t + 1) + (¢ — 1) -Heaviside(t — 1)
— (¢t —2)-Heaviside(t — 2) + Heaviside(#-4) — Heaviside(t —5) — (¢ —7) -Heaviside(¢
—7) + (¢t —8)-Heaviside(t — 8) : plot( f, t=-L..L, scaling= CONSTRAINED))

> a[0] = %-int(f,tZ—L..L)

ay=0 2)

> a[n] = %-int(f-cos( ”'LPi ~r),t=—L..L)
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> STF500 = sum(b[n}sin( ”'LPI -t),nZI..SOO) :
[ > plot(STF500,t=0..L, scaling= CONSTRAINED)




(> plot(f,t=0..L, scaling= CONSTRAINED)




> g = (t+ 8)-Heaviside(¢ + 8) - (¢ + 7) -Heaviside(¢ + 7) + Heaviside(¢ + 5) -Heaviside(¢ + 4)
-(t+2)-Heaviside(t +2) + (¢ + 1) -Heaviside(¢ + 1) + (¢ — 1) -Heaviside(t — 1) — (¢
— 2)-Heaviside(t —2) + Heaviside(¢-4) — Heaviside(t —5) — (¢t — 7) -Heaviside(t — 7)
+ (¢t — 8) -Heaviside(t — 8) : plot(g, t =-L..L, scaling= CONSTRAINED)




> al[0] = %int(g,t:—L..L)

ay ="y o)

n-Pi
‘t|,t=-L.L
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> a[n] = subs(sin(n-Pi) =0, cos(n-Pi) =(-1)", 1 -int(g-cos(
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> b[n] = simplzj‘j/(subs(sin(n-Pi) =0, cos(n-Pi) =(-1)", %-int(g-sin( nLPi -t), t=—L..L) ))

b =0 W)

> STF500G == 4191

-I—sum(a[n]-cos( nLPI -t),nZI..SOO) :

B plot(STF500, t=0..L, scaling= CONSTRAINED)
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;> restart
> f:=-2-Heaviside(? + 1) + 3-Heaviside(¢) — Heaviside(¢-1) : plot(f, t =-2 ..2, scaling
= CONSTRAINED)




restart
Ecua = diff (y(¢t),t,t) +4 -y(t) =sin(¢) -Heaviside(t — 2-P1)
2

Ecua = % y(t) +4 y(t) =sin(t) Heaviside(t — 2 1)
t
CondIni == y(0) =1,D(y)(0) =0
ondIni :=y(0)=1,D(y)(0) =0

with(inttrans) :
EcuaTL := subs(CondlIni, laplace(Ecua,t,s))
25T
EcuaTL = s* laplace(y(t),t,s) —s +4 laplace(y(t),t,5) = >
s +1

SolTL = simplify(isolate( EcuaTL, laplace(y(t),t,5)))
53 +e + 5
(s2—|— 1) (S2 +4)

-2sT

SolTL := laplace(y(t), t,s) =

SolPart = inviaplace(SolTL, s, t)

SolPart :=y(t) =cos(2t) + (-sin(2¢) + 2 sin(?)) Heaviside(t -2 71',)
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